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General Instructions:

1. Candidate must write his/her er on the first page of the Question

Paper.

2. Please check the Questi er to verify that the total pages and total
number of questions con the Question Paper are the same as those
printed on the top of the fi age. Also check to see that the questions are
in sequential ord

3. Making any i ification mark in the Answer-Book or writing Roll Number
anywhere other t the specified places will lead to disqualification of the
candidate

4. Write your ion Paper Code No. 67/TUS/2, Set [A] on the Answer-Book.

5. (a) tion Paper is in English/Hindi medium only. However, if you
ou can answer in any one of the languages listed below :
nglish, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.
Y

ou are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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Time : 3 Hours | [ Maximum

T ;3 Ul | : 80

Note : (i) This Question Paper consists of 43 questions in \
tiocv

ultiple choice type questions (MCQs)

ct and write the most appropriate option
out of the fo ven in each of these questions. An internal
choice has bee 1ded in some of these questions. You have to
attempt*me f the given choices in such questions.

(b) Nos. 17 to 28—objective type questions carrying 2 marks

pt these questions as per the instructions given for each.

Q
each.
(vi) cv consists of
uestion Nos. 29 to 37—very short answer type questions carrying
2 marks each and to be answered in the range of 30 to 50 words.

e
(b) Question Nos. 38 to 41—short answer type questions carrying
3 marks each and to be answered in the range of 50 to 80 words.

(i) Al questions are compulsory.

(iiij Marks are given against each ques

(iv) Use log tables if necessary.

(v) Section—A consists of

(@) Question Nos. 1
carrying 1 mar

(c) Question Nos. 42 and 43—long answer type questions carrying
5 marks each and to be answered in the range of 80 to 120 words.
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few: () 3@ T9-771 § 3o 43 UH B
(i) @t g rfEm F)
(iii) b Y % Ik 3@k @y few mu F)
(iv) 3afg smaws &1, aF & a9 1 T R
(v) @Wve—3 § |imfera 8
(a) Wo Ho 1 ¥ 16—=gaehed! TN & WA (MCQs), T&H 1 3 I
% foru feu o =m fopedt § @ we@ @t foshew &1 g4 3R T

T | AN fashen feam mm 81 W@ uwl § auent feu ETN|
T 1 I oAl 2

(b) To Ho 17 ¥ 28—aKIHE YHR & JH, TIh 2 3 T ol B
ey

(vi) @Wve—s H dffferd 8
(a) Wo Wo 29 ¥ 37—3fd THWT WA, TS 2931 HT W YIHh I W 30 ¥
50 W=l H G|
(b) Wo Ho 38 ¥ 41— T, TAh 8P Td Y% I IW 50 80
wsdl H Gl

(c) Jo Ho 42 I 43—LH-IHI

120 vsGi ¥ Gl
(1) Answers of all questions are to

ooff ge % IA MR &

(2) 15 minutes time has bee
Paper will be distribut
students will read the
the Answer-Book during t eriod.

39 YH-TA I 15 w1 g9g fear T g1 Ye-ud o fadwor Qe |
2:15 &9 fepam 2:15 99 ¥ 2:30 & b B had YIT-TF I Tl 3N
9 IEfy & ~gfEqehT | HIg IW A8 fera|
SECTION—A

TUE—3H

3% 1 Td Y 1 I 80 ¥

N
the Answer-Book given to you.

& ford|
ead this Question Paper. The Question

p.m. From 2:15 p.m. to 2:30 p.m., the
aper only and will not write any answer on

os. 1 to 16 are multiple choice type questions of I mark
n internal choice has been provided in some of these questions.
ave to attempt only one of the given choices in such questions.

Ho 1 ¥ 16 % wgfahedl WA § To1 YA 1 37 HT Bl FD Y H AN
fezm w21 W@ WAl H At U foshed AT R
. The linear molecule, which has net dipole moment zero, is

(A) HCI (B) CO,

(C) Hy,O (D) Ny,O 1

Note
A
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T Wi 3, e g foge s oy v,
(A) HCI (B) CO,

(C) H),O (D) N,O
2. Which of the following colligative properties can be used to determi

molar mass of proteins with maximum precision?

(A) Depression in freezing point

(B) Osmotic pressure o
(C) Relative lowering of vapour pressure

(D) Elevation of boiling point

frafafad § 9 wF-w1 svEe qued AAfus gdhar 9 Tl A H
% fotu wes fopam S gehan 77
(A) Tewres sfemA

(B) &

(C) 9T T T ITUfRIH FHITHT

(D) HYEH I

property? 1
(B) Pressure

3. (@) Which of the following is o
(A) Temperature
(C) Density (D) Volume
Frerferfaa & @ ﬁ—m@w 37

(A) ™ (B) <=
(C) 9= &\ (D) A™FaH

Or / JAYar

(b) Bond iation enthalpy is applicable only for the
( g molecules
ules in liquid state

ecules in solid state

gaseous atoms

g forie wedt @R a8 Shae
(A) TR 3Rt & o
(B) g 3feedn # iz & forw

(C) 3a e ® 3y & fou
(D) & st % forg

313/TUS/108A 5 [ ARNTNEnm e-ro.
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4. (a) The conjugate acid of NH, is

(A) NH (B) NH,OH
(C) NH,4 (D) N,H,
NH, & &gnft 3t 2

(A) NH (B) NH,OH
(C) NHj (D) N,H,

(b)
(A)
(€)

frafafaa & @ feasr pH @@ stfereran

Or / AYaT

Which of the following has the highest pH valu

1 M HCI
1 M Na,CO,4

B) 1
(DG <OH
?

A

(A) 1M HCI 1 M NaOH
(C) 1M Na,COj, 1 M C,H;OH
5. (@) The H—O—H bond Qis
(A) 106° (B) 109-28°
(C) 120° } (D) 104-5° 1
H,0 # H& H 7
(A) (B) 109-28°
(@)1 (D) 104-5°
Or / JAYar

(A)
(B)
(€)
(D)

BeCOj, > BaCO, > CaCO3 > MgCO5
MgCO5 > CaCO5 > BaCO5 > BeCOj
CaCOj3 > BaCO, > MgCOj > BeCOj
BaCO; > CaCO5 > MgCOj5 > BeCOj

313/TUS/105A 6

thermal stability of the following alkaline earth metal carbonates
llows the order
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frafafan afa ga eifes weie & afi ferar &1 ad %9 2
(A) BeCOjz > BaCOj; > CaCOz > MgCO;4

(B) MgCOj3 > CaCO5; > BaCOj3; > BeCO;4
(C) CaCOjz>BaCO; > MgCO5; > BeCO;
(D) BaCOjz > CaCOj; > MgCO5; > BeCO;

6. (a) Which of the following properties is not exhibited by su
(A) Acidic nature (B) Oxidizi
(C) Dehydrating agent (D) Re ing p rties
frefafaa & @ wF-T1 Toed gewt TR
(A)  Frfi Sepfd ( e
(C) fasieftertor i

e? 1
operties
7

ToTer

0

(b) The gas produced by oxyat @
of metals during weldi

flame, which prevents the oxidation
ting, is

(A) hydrogen (B) oxygen
(C) ethene (D) carbon dioxide
f \Tﬁf@aﬁﬁﬁ-ﬁﬁﬂmwﬁ%,sﬁﬁéﬁﬂaﬁt
He & i, o SR I Ushdl &7
(A (B) 3fertS

(D) hIEH STEINFETES

thanoids and actinoids resemble in their
electronic configuration

RN

(A)
(B) prominent oxidation state
(C) ionization energy

(D) formation of complexes 1

313/TUS/108A 7 [ ARNTNEnm e-ro.
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Sfeel ot Ufdedrsel ¥ Th-gW ¥ THMAT 7
(A) ST el fommd H

(B) 3ITeh! g&F ATl reer |

(C) I AT oAt H

(D) 3T Hpell & fmior H

Or / JAYar
(b) The aqueous solution of which of the following ions wi 0 ess?
(A) Fe?* (B) Mn3*
(©) Tit (D) Sc3*

[Atomic number : Sc=21, Fe=26, Ti=22, M
frafafaa & @ fpg smm &1 e faeem T
(A) Fe?*
(©) Tit

8. The temporary electron dis % which takes place in compounds
containing multiple coval eveloping +ve and —ve charges within
the molecule is known

(A) resonance (B) electromeric effect
(C) inductive eff (D) hyperconjugation 1
%mm@;ﬁwamm,mmmveaﬁ:
—ve I 2 E

(A)
(€)

(B) IorRIE quTd
(D)  rfaEgmH

ish brown colour of bromine dissolved in carbon tetrachloride
d purple colour of alkaline potassium permanganate solution are
discharged by

(A) alkenes only

(B) alkynes only

(C) both alkenes and alkynes

(D) both alkanes and alkenes 1

313/TUS/108A 8 A
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HTeH FANTEE B Heft T 1 T U T 3R diefem wie & afie fooem
w1 ST 1 fmfafed & @ fereshr sufeufa gro w8 g #9

(A) heet Teehid 6
(B) heel Ueshrgd

(C) UeehH 3R Ucehisd QM
(D) Ueshd 3R Uesha gl

Or / 3AYar

(b) Sulphonation of benzene is carried out with
(A) dil. HySO,
(C) oleum
S T FEHMERWT fohaT AT 2
(A) @ HySO, &/
(C) 3iferm gm

10. The melting and boiling point@alkanes and haloarenes are higher
than those of their parent Ayd ns due to
(A) lower molecular ma
de of va Waals forces of attraction
%molecular dipole-dipole interaction
to

m intermolecular hydrogen bonds 1

(B) lower magnitu

(C) the existence
(D) their cap

el
A) T
(B)

Teish T ®YIh U4 Seh EIEgrhadl § 3= Bld 8
T % HE
RNV S o fre afmmer % sw

- foga-fega s=afsean 1 sufeafa & wro
[~ 3T BT3SIo 3TEE & shi 3ehl &THdT o Il

11. (@) When phenol is treated with CHCl; and NaOH followed by
acidification, the product formed is

(A) benzaldehyde (B) salicylaldehyde
(C) salicylic acid (D) benzoic acid 1
313/TUS/105A o [N 1 er-o.
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S§ %A S CHCly 3R NaOH % 619 TR it & a1¢ Terisha fopam Srar
7, a9 fififd s 2

A) safessss (B) dffaifesrss

(C) afctaferss ama (D) SE® I a
Or / AYaT
oﬂ ol?

T ST 7Y

(b) Which of the following enzymes converts glucose int
(A) Diastase (B) Invertas
(C) Maltase (D) Zymase
frfafed & & H-91 TSMeH TN S T
(A) sE=H (

o 0
12. Hemiacetals are chemically
(A) alkoxy alcohols (B) alkyl alcohols
(C) gem-dialkoxy compo (D) ethylene glycol 1
@) T iﬁ (B) et tprere
(C) @n—v (D) TRmefe wrEHe
13. (a the following forms a stable diazonium salt at 273-278 K? 1
Ethylamine (B) Aniline

C) Dimethylamine (D) Benzylamine
frafafed & @ ®F-81 273-278 K W T R SRWITHIY @@ 41 87

(A) Tl (B) Ufef=
(C) szl (D) sfei=
313/TUS/105A 10 LA AR
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Or / AYaT

(b) Sulphonation of aniline at 455-475 K produces
(A) sulphonic acid 6

(B) benzenediazonium sulphate
(C) anilinium hydrogen sulphate
(D) sulphanilic acid o
U T 455-475 K W RS 399 HT @ \
(A) HeHIh 3T &
(B) SSRGS Tcthe
(C) Uferfrm wmEgisH Hethe
(D) TewTHlcTS 3T :
14. Chemically enzymes are
(A) polysaccharides ao (B) polypeptides

(C) polynucleotides (D) globular proteins 1

wwﬁmwﬁ@mﬁ
(A) UifeTahEs (B) difeTU<rss

(C) (D) TR TEH

15. Th §hich becomes soft on heating or becomes rigid on cooling

lastomer (B) fibre
: thermosetting (D) thermoplastic 1

S 95 TH HH W T A1 38 B W 3¢ B I 7, HEAW &

(A) SETEIHR (B) WIET
(C) wmEfen (D) emTAeeh
313/TUS/105A 11 AN ARE TR0 ¢ e.r.0.
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16. The washing material which is 100% biodegradable and contains
carboxylate ion is

(A) soap

(B) branched alkyl benzene sulphonate
(C) linear alkyl benzene sulphonate

(D) lauryl alcohol

9 g8 g, St 100% Se ety @ i e seieEce

(A) &g

) wies W ER e “..,}

(C) & U s dewie &
s of 2 marks each.
given. You have to

(D) WA Ueehlgial
questions.

e : Yo "o 17 ¥ 28 % MY YHR & 2 3% H gl T F F®
o § 9R 399w feu Mo ) SRt f @ SUWIT % I e B

17. Complete the following by thefop given below : 2

Note : Question Nos. 17 to 28 are objective typ
In some of these questions, four sub
attempt only two sub-parts out of t

atomic mass; formul olar mass; C-6; C-12; C-14; 0-01;
0-001; 0-0001; inte ional

(@) 585 g mol™! is the NaCl.
(b) A mole is the &c of a substance that contains as many entities

(atoms, m other particles) as in exactly 12g of
1sotope

(c) equa

(d) Molec ula is always multiple of the empirical formula.
| & frafefad @ @ IR

; Y9 goFHH; Ao’ §@MHE; C-6; C-12; C-14; 0-01; 0-001;
01; qui Hifeas; fremars

85 g mol™!, NaCl &1 ____ ®

) Th At el uered it 97 wEn B feH 3@ uered & got Hil (S8 WA, 39 A
I HU) I IaA & T gt § a6 et & di% 12 g HI

(M) 1 mm U 8 m |

(F) oTfvaes ¥F F&e qAHA ¥F H1 Uk BT @l

313/TUS/108A 12 A
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18. Read the passage given below and answer the following questions
(out of four attempt any two) : 1x2=2

According to VSEPR theory, the electron pairs around the central atom in
a molecule arrange themselves in space in such a way that they mini
their mutual repulsion. The lone pair repulsion is much greater th

bond pair repulsion.

() Name the electron pairs around the central atom in o) ho
arrange themselves in space in such a way that t imize their

mutual repulsion.

(b) Which parameter of the molecule is linke
electron pairs?

(c) When the number of electron pairs,a
which geometry is predicted for th
(d) Which electron pair is kn

molecule?

tual repulsion of

e central atom is five,
e?

lone pair of electrons in a

= fou U df=eg @i afen
ED

I b IW T (IR H @ HE Q)

foreft 310] % ek TwATo] % IRT SR Iufed seldeia
#a 2§ 5 3% g an gfewdu 21w gl
yfcehsor & el e BT Bl

o wHo 30 dio 310
I 30 3T H
1 gfcepyur 31Te

U] % IR IR IR 37 Sorde Wi o A fARge S S 3
F & fF IR TH-gR % Wy gfaesu = 2|

()

HN HH-FT TEA A FHT B TH-gE b U FqH¥r F wEfg 27

() S S T % TR AR % Jolaeq FEI hl HGAT Ui &, a9 I hl AT
sTtyfe @ g ?

(q) HH-¥ 3oaE W Bl A § ThHe T Hg AT 27

313/TUS/105A 13 [ ARNTNEnm e-ro.
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19. Write True (T) for correct statement and False (F) for incorrect statement
(out of four attempt any two) : 1x2=2

(a) Benzene-chloroform mixture exhibits positive deviation from Raoult’s
law.

(b) Boiling point is a colligative property.

(c) Vapour pressure of a liquid is the pressure exerted by the
the liquid in any condition/situation.

(d) Two liquids are miscible when they dissolve in ea
proportions.

& HYT & T g7 (T) 3 7T HeH & fow 3/ (F) qH®E Q)
() SSA-FAU®BH Ho TR8ee & | 8 g
(@) ®UHH Th EE Ty 7|

(M) Tt ga o1 a0 o Tt oft feurfa/ 97 gRI STl TR < Rl
(@) < ga Ty € s 9 @ ’ o o fyersfe §)

20. Write True (T) for correct
(out of four attempt any

and False (F) for incorrect statement
1x2=2

(a) In a galvanic electrons always flow from cathode to anode.
(b) Salt bridgeds a c ct between two half-cells without any mixing of

electrolyt
(c) High

alency of the ion, greater is its conducting power.

(d) uetivity of a cell is the product of conductance and cell constant.
g (T) 3R T % & forw s@ (F) fafew (@m & @ =€ @) .
feafie ¥e1 § goiazie Heier Sole ¥ WAg H AR W 2

) Hiee fost €1 Frd-Tedl & e o s U@ Gush B Fred smees fufya T @ uwl

M ot il foret smm &t daiemar Bt ], 3ot 2 3ifes SHE wTersh aman
B

(a) ferelt Tt I Tethal, ITeihe 3R I TRRI® &1 0SS 2l

313/TUS/108A 14 A
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21. Write True (T) for correct statement and False (F) for incorrect statement
(out of four attempt any two) : 1x2=2

() The reaction of lithium with water is less vigorous than that of
sodium.

(c) Calcium imparts brick red colour to the flame.
(d) Chlorophyll is a complex compound of magnesium. \
& YT & U T (T) 3R o HeA & U 3@ (F) Fﬁ&ﬁ HiE Q) :

(%) <iftrm 6 S @ Affean, difsam K srfufen 6 fq | Bt Bl
<@>wﬁw@aﬁaamqwmmaﬁ$ I W T §, FiE
gd

(b) The melting and boiling points of alkali metals increase do
group due to increasing size and weak intermetallic bond.

ITHT IHR Fedl 8 IR I -

() hfcemm, oo § $¢ 9 o @
(F) AR, BHfET &1 U

22. Write True (T) for correct
(out of four attemp y two):

ent and False (F) for incorrect statement
1x2=2

(a) Sulphur s s t our and six valencies in its compounds.

(b) Fluorine is prepared by electrolysis of hydrogen fluoride.

(c) Chlor rbons have very high capacity to retain heat.

(d) idaltion state of chlorine in chlorous acid is +1.

% foTU weg (T) 3R 7o %oF & fou @ (F) foflew (A & & =€ @) -
, 3o AfieRt § <), SR 3t B wEear cuiar 2

(@) FI3EH, EEEIeH wI3iEe & dgd-smeed @ fififa ardt 21

(1) FAHAITRIET hl ST I RO Hd H &A1 A 3= 2|

(F) FARE A H FAS Al SATediehor sraed +1 2l

313/TUS/105A 15 [ ARNTNEnm e-ro.
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23. Write True (T) for correct statement and False (F) for incorrect statement
(out of four attempt any two) : 1x2=2

(a) Copper(l) compounds are white and diamagnetic while copper(Il)
compounds are coloured and paramagnetic.

(b) The common oxidation state of Cu, Ag and Au is +2.
(c) Scandium does not exhibit variable oxidation state in its ¢ @ ds.

(d) Among Al, Zn, Mg and Fe, the densest element is

Y @R Q)
IR IFEHA

TE HYT & AT g (T) 3 TTe9d HeH & oW 3@ (F)
() (1) Afies waa 3N gfergreehia gia & s siay(]

- &

(@) Cu, Ag 3 Au HI TS IR
(1) Thiceam oA Afient o gitadi A eI

(") Al, Zn, Mg 3R Fe § Fe &1 2

any 5

ounds are the compounds in which a central metal ion

24. Read the pass
(out of four att.

below and answer the following questions
1x2=2

Coordma
is att oup of surrounding ligands by coordinate covalent bond.

e monodentate or polydentate. Polydentate ligands are also
ting ligands. The geometries of coordination compounds are

trahedral, square planar and octahedral.

)

[Co(CN)6]3_ and [CoF6]3_ both are octahedral complexes. Then what is

the difference between the two?

(b) Give a chemical test to distinguish between [Co(NHj3)sBr|SO,; and
[Co(NHj3)5 SO4]Br.

313/TUS/108A 16 A
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(c) Name any one chelating agent.

1011.

(d) Ildentify and name the bidentate ligand in [Co(en),(H,O)(CN)]” complex E

JEIH o TR THE € JS1 BT | Hol Uhed! A1 Sgad! 8 Hehd &

ﬁ%%qwqﬁﬁaaﬁw%qaﬂtﬁm%@ﬁgﬁéawﬁﬁq(wﬁﬁﬁie
TR A 3 A § R S O STRA ISTEEEES m i
W&Vﬁ%@ﬁm

® FHid werft ft FE @ ]| SUEEEASe  AfERT i
IqhARIT, T THAAE I NTHAHT B B

(%) [Co(CN)g]*~ 3 [CoFg®™ a1 & s & f & @ o R7

(@) [Co(NHj)s Br]SO, 3R [Co(NHj3)s SO4]|Br, & fode s & fou w
et Tden fafeu)

(T) Uk ol SN 1 AW fArau|

() [Colen),(H,O)(CN)|™ @ Tt i veam Hife 3 T fafeu)

25. Read the below and answer the following questions

pas
(out of four any two) : 1x2=2
Ethers ar ic compounds in which an oxygen atom is bonded to two

alkyl grou 1 groups. Ethers have geometry similar to water and
alcoh

w the geometry of an ether molecule.

ustrate the basic nature of ethers with the help of a suitable
reaction.

(c) What is the IUPAC name of methyl propyl ether?

(d) How can ethers be prepared by Williamson’s synthesis? Illustrate with
an example.

313/TUS/105A 17 [ ARNTNEnm e-ro.
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fre fou U ufsg @i dfer SR fr=fdfed Wi % IW MY (IR § ¥ %13 @) ¢

32X 9 Hrefh AfTeh B & o weh Aferfism vy < vfesha a1 Ut TEl | Srefud
BT 21 S W A I 3R Ueshlgial € Fredi-Jadt 2l

(%) 3 & ] I A SR

(@) wh 3I9gh ffhn i TEma ¥ 3ol it g7 whia wE i)

\aﬁ T

() Afye W SR # 30 go Wo o o AW F B?

(T) 30 i fafcrare gyeivor g fhe gebr R o
¥ sy

26. Read the passage given below a er the following questions
(out of four attempt any two) : 1x2=2

Nitro compounds are tho es of hydrocarbons in which a
hydrogen atom is replac a_nitro group. These may be aliphatic or
aromatic. Nitroalkanes a d into primary, secondary or tertiary
depending upon thegattach t of nitro group to primary, secondary or
tertiary carbon a

87

ing compound according to the IUPAC nomenclature :

CH;—CH—CH—CH,—CHj,
NO, CH,

hat happens when propane reacts with nitric acid at 680 K? Give
the chemical equation.

Write the reduction of nitrobenzene in alkaline medium.

(d) Compare the boiling points of nitro compounds with the
corresponding alkanes. Justify your answer.

313/TUS/108A 18 A
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f= fau o wiedg @ ufen st Prafafas s % SR df (IR § & @ Q)
;@aﬁﬁmg@mﬁ%éw@ﬁémﬁwa@mm?@%mg

wfeenfya 2rar 81 9 Ui o1 wAfes & "o E1 ATsgehAl B wufies,
AT TAIh TSNkl § aiffehd fehal ST Tehal & 1 39 a1 W R St @
g AV Wt e a1 e #e T ¥ 99 2

() moq\oﬁowlﬁom%mﬁw%ﬁaﬁaﬁﬁ%w\

A

(@)WW%W680K‘1’(E@?,WW@® 27 qEEe g

CH, —(|3H—(|3H—CH2 —CH,
NO, CHj

ferfe]
() W AW | ARG A Hl

(a) T3 ARl & HUATHI
&)

Ueehrl § HINT| 3T IR H1 e

Read the pas } below and answer the following questions
(out of four a any two) : 1x2=2

Hormone
glandsg Th

emical messengers which are secreted by endocrine
carried through the blood stream to the target tissues.
mall organic molecules which are taken in diet and these
in trace amounts for proper-growth.

e a female sex hormone and state its function.

hich disease is caused by the deficiency of insulin in humans?
Which gland secretes it?

Which water-soluble vitamin’s deficiency causes a disease with
symptoms of (i) cracked lips, scaly skin and (ii) anaemia, irritability?

(d) Name any two vitamins which are fat-soluble.
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f= fer v uf=se wi ufeu 3t fefefga g % S i (I d @ =58 @) -
B TEEe G99 Bid & S fop TeiseT e @ wfad @ 21 3R T 9 % | E

I Sdehl 1 I o ST S B e B s 3] 8 € 9 Smer % ay

o 2 3R 3 3fua 9fg & fow ggw wen § smaws 29 E

(%) Uk HIel T BHME 1 a1 fafgu 3t g gl =6 i)

(@)Wﬁ@%ﬁﬁ/ﬁsmﬁaﬁq—mﬁﬂ@m%?sﬁaﬁ?—w
HA B 7

() Wﬁwwmﬁqﬁw&%ﬁﬂ@m%r&m (i) B8t

AT, gTiETell = AUl (i) Wh-3Teqdl, S ? ‘

28. Read the passage given below and he following questions
(out of four attempt any two) : 1x2=2
A polymer is a giant molecule ntermolecular linkage between
same or different types of sma ules called monomers. The process
by which the monomers up is called polymerization. The

polymers can be classifi e basis of origin, structure, method of
polymerization and molecu rces.

(7) | ° gorRia feel @ foerimi & 9w fafeg)

() What are t ers of Terylene?

(b) Among B nd Neoprene, which one is a copolymer and why?

cess of polymerization are by-products obtained?
i ategories are polymers classified based on their structure?

I gfer ot Fafafiad s % 3R 4T (IR § & *E @)

(c) Inw

(@ 1

fommer 319 & S fop @ a1 A TR & B e, 5 Ther wed €, %
-V Fo7 | 4 Bd | N ThH G Thersh Jed @ 98 SgeAehihill haardl
2| g T LT Ih! Icafd, L], TEAhIDBT Fishal 3R Tk Tl o IR

W fman S gehar 2l

(%) AT & Thaass HII-§ 87
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(@) FA-S W FRfa & § *9 deages & W F=i?
(7T) SEAhBT 6 fhH ThH H TE-3IG TH Bd &7
(F) ST % MER W Fgeh i fhd A § aiieha fohal S &bl 8?7

SECTION—B
Qus—d

Note : Question Nos. 29 to 43 are subjective type questions. i
has been provided in some of these questions. You to a

one of the given choices in such questions.

al choice
mpt only

e : o o 29 ¥ 43 fywafiy yw Bl W ¥ p® A # fem T 21 W@

gl § Hhaet Th foshed AT R

29. (a) Find the mass of 0-252 mol of s
mass : Na=230 amu, P=31:0

phate, NajPO, (atomic
6-0 amu). 2

u,;

(b) A compound is composed s of only two elements, carbon and
oxygen. If the compound,c 51:3% carbon, what is its empirical

formula?
(%) 0252 T HifeTq i 3PO,, &1 WM I HINT (WA F&=AH
Na =230 am 31-:0 amu, O =160 amu).
Jreran
(@) T hadl i, STeA 3T 3TTardioH, & Tovan & fietet &1 81 9fe Afies

¥ 51 7, 1 3T GAMUTR T w1 BT ?

30. Dr pes of d-orbitals. 2

IcatRINCEIEY

hat is meant by a coordinate covalent bond? Give an example. 2
Or
(b) Define a bond angle. What is the bond angle in the following?

() N—H bonds in NHj
(i) C—H bonds in CHy,

313/TUS/108A 21 [ ARNTNEnm e-ro.
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() ITEEEAST TGS IEY ¥ F ANAE 87 TH I AU

YT

(@) &g v H gRa dfe| fEfaRea § ey Hior feaT 29

(i) NHz; § N—H 3e4

(i) CH, ¥ C—H 31&y

32. What are exothermic reactions? Give one examp exothermlc

reaction.

et ARfsRATd foheg shed &7 Siadt srfurfsha

33. What is meant by ionic product con ater? Write its mathematical

expression.

I o AEAS IAe e 3IGhT TN et faiRau)

34. Explain the electrolysis o ueous copper sulphate using platinum

electrodes.

AT HIR Hothe HT AYd-ATE TS

35. n oxofluorides obtained? Write the chemical equations

3NEe 8 g fhu o 87 deg vEEfes e w1 fafa)

ow is potassium dichromate obtained from sodium chromate? Write
the chemical equations involved. 2

Aifeaq wHe ¥ qRrm eewide fha TR uH fram ST 87 Gug TEEiIe gHeRn
w1 fafu)
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37. State Saytzeff’s rule. Give a suitable example. 2

Ao &1 fom =k hIU| T I 3eTe iU

38. Predict the shape of methane molecule on the basis of VSEPR
specifying the underlying postulate of the theory.

o wHo Fo Wo HRo Rrgia & MU W AAT 319] T BT 1 ;

Togra 1 ffga sthamon fafau) :

39. Calculate the internal energy change in each of wing cases : 3

(@) A system absorbs 15 kJ of heat and SYE) f work.

(b) 5 kJ of work is done on the system
the system.

J of heat is given out by

frafafed & @ T=® yewo | aiehletd shIfT

(%) Th o 15 kJ Fo 2 3 5kJ HE Hl Bl
(@)WWSkJ@

wn the formula of hexaaquacobalt(IIl) chloride.

3 e g1 15 kJ oA 3c@fSd hl TS|

40. (@) (i

s meant by inner orbital complex? Explain with the help of
ample. 3

Or

ccount for the different magnetic behaviour of hexacyanoferrate(IIl)
ion and hexafluoroferrate(IIl) ion.

() (i) TFEEEETCL(IIl) FANES & g3 ey

(i) TANH HeTh ol o T 37U 87 Th 3¢ hl HgRdl ¥ A Hif|
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(@) TFEERATBE(II) TP 3 F3TUhE (I1) 3RA & e grehi S8R &1 E

T i)

41. (@) () Why are aldehydes more reactive than ketones to
nucleophilic addition reactions?

(ii) How do ketones react with Grignard reagent? Writéhth ical
equation involved.

(i) Write the chemical equation for Hell-Volhar ky reaction. 3

Or
(b) (i) Which one of the following will be

Butanoic acid, 2-chlorobutan
4-chlorobutanoic acid

m acidic and why?
ac -chlorobutanoic acid,

(ii) What is Tollens’ test? Write C ical equation.

(i) How can you conve te group into >CH2 group?

(®) (i) TR Hehor % uyfa Ufcegre, HigHl hi smen sife
siffsramsiiar @ g 27
(ii) e,

g frm yer arfifsear @ 27 wftifaad et

%@WWWWWWI
DG

T o HH-A1 Faifs T 8 3 =i ?
FAIEH I, 2-FARSIAISH 3TA, 3-FARSAGH 3T,
4-FANSIATGH A

o (i) AT T F B? HHT TS wHiwRwr fafau)

(i) ¥ >C=0 g F >CH, @ # f¥g wor ufafds w @y &7
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42. (a) (i) Define molal depression constant for a solvent. How is it
expressed?

(ii) Find the freezing point of the solution containing 0-520 g of
glucose (CgH;,0¢) dissolved in 80-2 g of water (Kf= 1:86 K/m

Or

(b) (i) What are abnormal molecular masses? How are they d ‘ :
~ litres of
atm¥at 27 °C.

| 38 forg YR =

(i) Determine the amount of CaCl, (i=2-47) disso
water such that its osmotic pressure is
[R=0-0821L atm K mol™}]

(&) (i) Torelt foemaes & foru dieet e frms
ER IR

(i) afe 0-520 g THE (CxH;,09,180-2/g It & g &, @ i faere
fewisn s Wit (K= 1-

@) () FEm= 3nfias 27 3 for@ yor W@ fopu S &9

&gq CaCl, (i=2-47) ! HEAT T HIU Selfh IEeh1

°C W 0:75 atm 8l [R=0-0821L atm K ! mol!]

(i)

43. (a) _ (1 range the following in the increasing order of their covalent
acter :

SiCl,, CCly, SnCl,, GeCly,
(ii) How do the bond angles vary among the following hydrides?

NHj,, PHg, AsH,, SbH,

(i) How does the covalent character of halides of an element change
with oxidation state of the element?
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(iv) Give the equations for the formation of the following from the

elements :
1. Al,O4
2. CCly

Or
(b) () How does the magnitude of ionization energy of nQary
along the period in the periodic table? Explain. \

(i) Discuss the trends in the chemistry of p-blo ements with

respect to the following :
1. Acidic and basic nature of the oxides
2. Ionic and covalent nature t ides
(i) Arrange the following ato in Jthe order of their increasing
ionization enthalpy :

7N, 1;Na

®) (i) T=fafea = H THid o Fed A § FEfeyd HT ¢

iCl,, CCl,, SnCl,, GeCl,

i o orEy HIvl § forE YR ufEdd B 87

NHj, PH,, AsH,, SbH,

(@

T o BTSS! h! HEGATS TR IHehT STHITHRIIT JTEEAT o A1 fohd ThR
27

<‘.::,’ (iv) Trefafed % o% aot @ fmio @ g G
1. Al,Oq

2. CCl,
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@) ()amﬁwwﬁﬁ%eﬁanaﬁﬁwﬁmaﬁw%aﬁmaﬁwﬁ%
aftmmor # fohe SRR qitEd BiaT 87 wHesy
i) Frffaa % @l & p W%a@@wﬁamaﬁw@
1. 3TeETsel 6l el 3 dRiT wehia
. ETEgESl 6 TRl 3R HEEdst wehid

()WW@@WWW% HifdT

o
«\Q'
s
RNa
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